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(4) WiRTH — 99, s — fadh, famg - fawa
in order of their importance having the

Rank the following investor countries
largest percentage share in Foreign Direct Investment in India for the Financial

Year 2020 — 21.
a. Singapore
b. USA

¢. Mauritius

Answer Options:
(1) Singapore - First, USA - Second, Mauritius — Third

(2) USA - First, Mauritius — Second, Singapore = Third
(3) Mauritius - First, Singapore — Second, USA — Third

(4) Mauritius — First, USA — Second,
5. g (TRIPS) 3id 3, syt s TR ST A
(1) 20
(2) 50
(3) 30
(4) 25
Under the TRIPS,
protection of copyright
(1) 20
(2) 50
(3) 30

@ 25 |
A el
e 2 TTA ST / SPACE FOR ROUGH WORK P.T.O.

Singapore — Third
afard! wifode 9 I

years

food, medicines and chemical products have

and related rights.

-
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8. Wl Reewn mftden snen ween it ;

A, Ul YT 1999 wed wed, P

. WWIHM%WWWWWWW@
S S, :

F. B TH AO-EEHE A AR (WEAH I SIS,

- Wﬁﬁ?ﬁmﬁamﬁmﬁwmmmaﬁwﬁyﬁﬁ.

Tt I

(1) wmfas 9

(2) 20

(3) antymng e 5%

(4) 7

Identify the institution from the following information : i il o0

a. It was formed in 1999.
b. Tt was formed to find a solution to the situation that resulted from the global
finaneial crisis of 1997 - 99.
c. It is an intergovernmental forum mvulvmg middle income cnuntnes
d. Tt is formed for discussing policies to achieve international financial stability.
Answer Options :
(1) The World Bank
(2) The G20
(3) The Asian Development Bank
(4) The G7
4. T 2015 e Swifoen SAmaR Haes g A ot Y weEreh B,
(1) i il -
(2) famg
(3) A
(4) sERfiEn
The WTO's Tenth Ministerial Conference was held at in 2015,
(1) Hongkong )
(2). Singapore
(3) Nairobi
(4) Indonesia

Feea FTETATE SN / SPACE FOR ROUGH WORK
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(1}%‘“ IR ST et %1 29 sfeen soisr g
(2) feEmEs p—— '
(3) A
(4) wwR

hiad thio iret veatiien o Tadial
(1) USA position in India’s exports in 2018 - 19.

(2) Switzerland
(3) Japan
(4) Germany

ﬂ. @Hﬁﬁﬁmmmmwml R
®.  wEERE A

%, el qg e FeraEE

T SEETdre e gurearEd

e 3= Fae.

qafdt Il

(1) A, & A0S

(2) e H, & A0S

(3) Ea ¥ AT H

(4) A 3 AME
Program was adopted by the Government for the

Macroeconomic Stabilisation
following measures :

a. Control import of gold
b. Control of inflation

c. Fiscal correction

d. Improving Balance of Payment position

Choose the correct answer.
Answer Options:
(1) Onlya,candd
(2) Onlyb,candd
(3) Onlybandc
(4) Onlyaandd
P.T.O.
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7. e S fieen s fat w2 sradtard) S e e e F ?
Rt St frafa 4 (EXTM Bank) = AT
Frata sicanes wisaeh @wq (EPCG) B

HGhIEAA shfee wrg B} e

Which one of the following provides insurance cover to banks against risks in export

credit lending to the exporter borrowers ?

(1)
(2)
(3)
(4)

EXIM Bank

Export Promotion Capital Goods (EPCG) Scheme
Export Credit Guarantee Corporation (ECGC) of India Ltd.
Emergency Credit Line Guarantee Scheme (ECLGS)

8. FA-UAR Jeevfialics et 2w o wafia arefatd) s fi aie snig 2

.

ufeelt 3 2 s, 2021 AR gad, UAE 3% aeh,

a. mwmmmmwwmwmm
. mﬁmm@mmmmwmmw
E. zwﬁam,zumwﬁaﬁﬁwmummqﬁmmﬁhwﬁwﬁmmm
TarHt I '

(1) % =, & anftr T =t smq (2) w40 A, @ A0 F Fa g

(8) wFa ¥, F 01 3 sl ama (4) &, =, % anftr T == Ay

Which of the following statements related to India-UAE High Level Task Force on
Investments (HLTFI) are correct ?

a.  The first meeting of HLTFI was held on 204 October, 2021 'in Dub ai, UAE,

b. It acts as a platform to address mutual issues associated with existing
investments.

c. It acts as a platform to promote as well as facilitate investments between the
two countries. : '

d. In the meeting held on 27d October, 2021, it reviewed the progress of
negotiations for India-UAE Comprehensive Economic Partnership Agreement
and reaffirmed the commitment to stick to timelines agreed upon, :

Answer Options :

(1) Only b, c and d are correct (2)  Only a, b and ¢ are correct

(3) Only a, ¢c and d are correct (4) a,b,candd are correct

FHeeq] HHNTS! ST / SPACE FOR ROUGH WORK
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Erefterteht

S g S A A e Fe A5 A e g Wy 2019 7
9. AregEr 2020 WA A1 FHEC @ad e,
. A e STRAT (ASEAN) wee i @ ik,
3 St R T ST S e ST 2 oo i Fai 1S
_ ‘T samn &’ wenfa . e
it I ;-
(1) e 31 307§ TR HA1Rd
(2) &% 4, F 0 T q IRq
(3) ad 3, @ I H e AT
(4) - para-3; WA B W Aed

Which of the fo]luwmg statements
Economic Partnership (RCEP)' Agreement ?

In 2012, India was a part of the negotiations,
It was signed in November 2020.
It includes only ASEAN nations.

It establishes the world’s largest
investment, trade and services inc

E.

are correct regﬁrding ‘Regional Comprehensive

but opted out in 2019. |

a.
b.

C.

‘Free Trade Area’ with provisions promoting
Juding e-mmmerce development. .

(1) - Only a and d are correct

(2) Onlyb,c and d are correct
(3) Onlya,b and c are correct
(4) Onlya,b and d are correct

Answer Options ;

= e fiata g Fresft & A,

10.

[}16—1?nu’hnmﬁﬁﬁ______.
A

a4 2
(2) AR HIS

(1) I F98

@) T s g (4) iR T

d the first place in India’s expo
(2) Readymade garments

occupie rt earnings in 2016 — 17.
(1) Jute garments

(3) Gems and Jewellery - (4) Engineering goods

P.T.O.
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11. ﬁzmummm;mmm_ﬂ@*
A, W gYRonm T
9. YN S T
b I 2T
S, e e fiean
Tt Iy .
(1) waa & anfor =
(2) wFa 7 afirs
(8) wad 3, 7 snfr %
(4) aledh a4

The Direct Benefit Transfer (DBT) plan aims at
a. improving targeting

b.  reduce corruption

¢. eliminate waste

d. control expenditure

Answer Options :

(1) Onlyaandb

(2) Onlybandd

(3) Onlya, bandec

(4) All of the above

12. @ SHEER AE (EMC) st T a1 i s o -

(1) 2011 - (2) 2014 (3) 2016 (4) 2020
Expenditure Management Commission (EMC) was constituted in the }re.ar
(1) 2011 (2) 2014 (3) 2016 (4)-2020

13, o Fee A = gamon Rt o T T e,
(1) 2002 (2) 2004 (3) 2006 (4) 2017
T}?e Kelkar Task Force Clummitbee recommended tax reforms reuummendatiﬁns in
the year

(1) 2002 - (2) 2004 (3) 2006 (4) 2017

weeq] HATATST SN [ SPACE FOR ROUGH WORK
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14.

Budget deficit means i

(1) Total Receipts — Total Expenditure

(2) Fiscal Deficit

(3) Revenue Receipts — Revenue Expenditure
(4) Primary Deficit

N15

15.

. (2)

Ty T wigad! E=

H. TG HERAT

. aﬁﬁﬁm&ﬁﬂmﬁﬁﬁé
®, UMEHE T '
5. fazeft i =
oy I e

gt I _

(1) % 9, H A E

(2) Ed ¥, F A S

(3) e A, 9 OIS

(4) HFd A, T IO H

a. Loans to State Governments

b. Capital expenditure on economic development
c. Expenditure on administration

d. - Loans to Foreign Governments

Choose correct answers. -

Answer Options :

(1) Onlyb,candd

Only a, cand d

Only a, band d

Only a, b and ¢

(3)
(4)

e e

T HHTATS ST / SPACE FOR ROUGH WORK

D

71 T gyE 2.

Theﬁcapita] expenditure of the Central Government consists of ___

P.T.O.
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18. mwmﬁmwmm
(1) =9t & S
@) T I |
(8) Turft =
(4} BT

Which of the following taxes was recommended by Prof. Kaldor ?
(1) Wealth Tax

(2) Estate Duty
(3) Gift Tax
(4) Service Tax

17. hmm@mwmwmm?

. S\

4. wEdEel e

C T .

T Infidw fasm

qaidt 39 ;

(1) % o

(2) e o1 afor &

(3) wHFaE

(4) AR S @

Which of the following are related
~ Government ?

to revenue expenditure of the Central
a. _ Current taxation
b.  Capital receipts
Loans
Economic development
Answer Options :
(1) Onlya
(2) Onlyaandb
(3) Onlyb
(4) None of the above
TR HIHIATSI ST / SPACE FOR ROUGH WORK

e
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N e S "1

4. . 3w
®. afer i
s, greg g
At 3w

(1) %Fa &

(2) waa =

(8) ad & IO E
(4) I wA

Which committees were appointed for tax reforms in India ?

a. Chelayya Committee

b. N.K.Zaa Committee

c Bhutlingam Committee
d. Wanchhu Committee
Answer Options :

(1) Onlya

(2) Onlyb >

(3) Onlycandd

(4) All of the above

qrg el

19. wmad Sft.u| A, 91 IR
(1) 8dre, 2016
(2) 1@, 2017
(3) 17, 2017
(4) ‘13, 2018
GST started in India from
(1) 8tk November, 2016
(2) 1%t July, 2017
3) 17" July, 2017
(4) 15t July, 2018
9w YIRS ST | SPACE FOR ROUGH WORK
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20.  wrefteht sy o R ande 2

(1 shoms {é} 3T

(3) wHueht o (4) W H

Which of the following is an Indirect Tax ?

(1) GST (2) Income Tax

(3) Wealth Tax (4) Property Tax
21. g wewE TR e Ty TR

. WHEH ITHTET T

. HTEHE %

F. AR Fa

T FEAEMRY da

I IW Frae,

a3 .

(1) %5 &1, 9 anfor =

(2) v A, & anfn =

(3) wam 31, 9 anifr ©

(4) ed 9, & afor g

The Non-tax revenue sources of the Central Government are

a.  Profit of Government enterprises

b.  Tax on Estate duty :

c.  Fiscal services

d. General services

Choose correct answers.

Answer Options :

(1) Onlya,bandc

(2) Onlya,candd

(3) Onlya,bandd

(4) Onlyb,candd
FoegT ST} ST / SPACE FOR ROUGH WORK T T ——
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M AR Ty e sreqamrare F0am e :
(3) 3w Jeh (4) . &
The Fourteenth Finance Commission was set up under the Chairmanship of ;

(1) C. Rangarajan , (2} Raja Chelliah
(3) Arun Jaitley (4) Y.V.Reddy

mﬁmmfﬂqﬁtﬁvﬂarmﬁrgﬁwaﬁmﬂ?
(1) Wlﬂgﬂ (2) R HA
(8) g (4) e FIvidE A

Which of the following is the major source of short-term funds for government ?

(1) Treasury bills (2) Marked loans
(3) Securities (4) None of the ab-uve

24.

. ww
- i sEu FEHSeEE S

il I
(1) tFﬂHHMﬁTa

Food subsidy in India comprises of
Subsidies to farmers

Subsidies to consumers

b.
Suh51d1es to Food Gnrpurahnn of India -

C.
Answer Optmns :
(1) Onlyaandb
(2) Onlybandc
() Onlyaandc

(4) All of the above

e R (o}
AT S 1 SPACE FOR ROUGH W RK . ) P.T.0.
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25. ﬁ--gsmwwwwm@mmw—m
A g
9. Haw s
®. gl e
<. wEEgre fam
Tt I ;

(1) had &1, & anf =
(ﬁ) FeFd 3, & A T
(8) wwd &, ¥ anfv g
(4) % &, & anfir g

The Service Tax introduced in 1994 — 95 was applicable only on three services, which
were ;

a. Telephone services
b.  Share broking

c.  Hotel services

d. General insurance
Answer Options :

(1) Onlya,bandec

(2) Onlya,candd

(3) Onlya,bandd

(4) {;lnly b,candd

ZFeeg] HTITATE! ST / SPACE FOR ROUGH WORK
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ﬁmmmﬁa@mamﬁﬂﬂmﬁum.mmﬁuwnﬁ
Iii.aﬂﬁl?ﬁfﬂgﬂﬂmﬁﬁiﬂm.ﬂﬁWﬁﬁﬁ&Hm@f?

(1) 100135
(2) 470135
(3) 100000
(4) 170135

135 votes were invalid, The winning

lecti involving two candidates
st e 6 : d the total votes.

candidate got 70% of the valid votes and won by 40000 votes. Fin

(1) 100135
(2) 470135
(3) 100000

(4) 170135

217.

mmqﬁﬁ 1519 ®7 gFEa ?
ﬁﬁ%ﬂﬁm“mﬁﬁﬁl;l

(1) 12:26

(2) 12:38

(3) 12:37

4) 12:27

- .
the hour hand and minute hand ?
i 151° angle between
What time€ shows

(1) 12:26
(2) 12:38

(3) 12:37

4) 12:27

(
o | =

areean wATRTA) ST / SPACEF

Scanned with CamScanner



o 16 D
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T R AR
gt I

(1) =

(2) =
(3) i

(4)

'Someone has felled a tree and while inquiring you got the following responses. If
onlyone of the responses is true, thep who must have felled the tree ? |

Response :

Tara : Da_v;ra lied when she said that I did it.
. Guni: Tdidnotdoit.

Aisha; Daya did it.

Daya: Taradid it.

Answei- Options :

(1) Aisha

(2) Daya

(3) Guni

(4) Tara

o SIS T | SPACE FOR ROUGH WORK TR =

» (% sTr Yn
LA 80
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5 m;ﬁmﬁﬁﬁf@ﬁ‘rﬁﬁw?t a4;~ﬂf“‘a%ammﬁuﬁﬂw

faem

. AR S Rew Hfewed g o,
4. AR T guEw st < afe s,
%, o Wi Seeen T 31 A I,
T R Wear gE E.

gt I .

(1) P ATS
(2) & 9Ted §e

(3) e &
(4) ﬁmmmmwﬁmﬁa?ﬁw

cisely 4 Mondays and 4 Fridays. Which of the following

i January has pre ;
i true with respect to this ?

statements is/are definitely

Statements :

The first day of this m.unth is definitely a Wednesday.
a. e

five Wednesdays and four Saturdays in this month.
b,  There aré

The last Thursday of this month falls on date 31.
C. e

d. This month starts on @ Tuesday.

Answer Options?
(1) Onlyaand®
{2.} All except d

All except 2 _
-~ fhicient data is provided for the verification of statements

___-_/f-—_'—i_— P P.T.O.
SPACE FOR ROUGH WOR
e AL

& i Y Y7
—— , 0
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0. Widfifigys oy BT AT SreATdiel JEheToI w.ﬁﬂ e

-~ SR Jvarh e ar.- 2020 T AR 12 AT mf’ﬁmﬁfmzr amm'
wmmmmmmwmﬁﬁ -
Wmm+mmmwmmmmm forca o
SR, <1 e STierieh $Taet qan Fe i faerasfier 9 TTaavt €) ST e 3.
%Wﬁ?ﬁ’ﬁmwmmmnﬁmﬁeﬁﬁqaimﬁwmmm
ST SR I HIEHA 30,000 AT ) g e erhArs e A oA v
AR FOm=N 5 Rrea reafwran sga 2o v arem sfEaumEr (simulator) T2
maﬁ.mmﬁwﬁmmmma@éfﬂqﬂﬁmﬂmﬁﬁmm
TEATSHAT VAT ST wreaar et
Eﬂﬁﬂﬁ?ﬂﬂmuﬁmﬂvﬁmﬂmﬁm+

(1) m%ﬁq\mﬁaﬁnﬁﬁmeﬁa@mmﬁm?ﬁg@mwm
ST STera sifveves (simulator) 39eed Sk

@ S HE S sfedt dan s P el s e s aree
AT Hel s e g e S S s 30 T 3.

(3) mﬁ%wmmwmmww_mw

(4) mﬁﬁﬁq#m%rﬁm@mamnﬁﬁzmwm%_

Cataract blindness is the disease which begins with clouding of the eyes and can
lead to loss of vision, will probably afflict 12 million more people by 2020, as a result
of shortage of skilled doctors limits access to eare in developing nations. In the
clinical way of training, it takes years to create a good surgeon, It js impossible to
train all the doctors needed and then put them in developing countries at this rate,
A non-profit organization ‘HelpMeSee’, committed to fighting cataract blindness,
wants to train 30,000 people for a procedure to remove the impairment using a
virtual reality simulator that replicates the human eye and feel the live surgery. The
simulator is a major development because it can make a great surgeon in less than
three months, ' :
Select the most appropriate statement which can be inferred from the above
information. ;
(1) Now there is no need of trained Surgeons for doing cataract
: virtual reality simulators for removing impairment are available,
(2) Now it is possible to train any person to remove cataract im
virtual-reality simulator that replicates the hum
SUrgery.
(3) Now virtual reality simulator can make 3 person
three months for removing cataract impairment,

(4) Now problem of cataract blindness
simulators. -

Fee] Tt SIFTT / SPACE FOR ROUGH WORK ™~ TEERITT

surgery as

Pairment using a
an eye and feel the live

a4 great-surgeon in less than

can be eradicated using virtually reality

= | . ]
y VAN AN ’!
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ot glw & SfEE
5 mﬁ%ﬂaﬁwﬁrﬁfﬁjﬁﬂmmmﬁWSﬁﬁﬁmW'mﬁﬁ
Fadt A T IS m%*“‘?wﬁmm-m-gmmmm.

aed ?

(1) 28000 .

(3) 20000 Ht. (2) 25000 Hi.
(4) 2000 .

gﬂlnssjigdwas ;Efcin.g south turned to his left and travelled 3 km from his house. He
ravelled 9 k;lﬂ.. 15 right and travelled 4 km and again he turned to his left and
. Finally he turned to his right and covered 12 km. How far is .hE from

his house ? :
(1) 28000 m (2) 25000m
(3) 20000 m (4) 2000 m

32. mmcwmwaﬁm$wmﬁmﬁwma@;mwwwm

%ﬁaﬁﬁﬂﬂ,mﬁﬁﬁﬂmmﬁéﬁmﬁaﬂ
(1) EcBiFK C
2) CoBEFEE
(3) CoBoFoE
4) Br FIKX EocC
If M ¢ N means M is the so
M is the father of N, then se
of E. i
(1) EcBEF¥C
(2) CoBiI€FI€ E
(3) CqJBUFaE
(4) BE FIE€ EocC

S i
33. 'wﬁﬁzwﬁﬂmﬁﬂmﬂnﬂmﬂﬂ.ﬁ*ﬁﬁﬁwmﬁwm
| wﬁﬁ,.mmmﬁwﬂﬂmmammﬁ“@wﬁ
g S e ?

(3) 219 (4) 90
in a cricket tournament. Every team played one match against

from these matches played one match against

ore selected which played one match. How many

ans M is the sister of N; M & N means

nof N; M ¢ N me :
t that means C is the grand-daughter

lect the statemen

(1) 217

91 teams partici
another team. Th
each other. Finally

matches were played in
(2) 144 (3) 219 . @ 90

CE FOR ROUGH WORK - . P

e TS AR / SPA

two teams W
the tournament ?
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a
gaiHT It H :
(1) B-.1;a. (2) A-2;¢ ~ (3 A-1;d (4) B-2:b
Every third tile is deaigmfd by combining elements of first two tiles across the rows
and down the columns with the exception that like elements getting superimposed
are cancelled out. Select the location of the illogical tile with respect to the aI:;t
and choose the appropriate tile for replacing it from the given options e
- 3 : : .

R

® O
[ Je]

® O 00

@60 ©
OO0 |0 @

o @) e
o L @)
ce O eCe e
a b c d
Answer Options : :
(1) B=1:3 2 A-2c @) A-1:d 4 B-2.p
o] BHIAITA! ST / SPACE FOR ROUGH WORK e

~ iy T
f 1
TS
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TH WY FrAnde waiien

T, 590 9vd 7 T 8 Waw el WA AR, 7 weeq 998 @ A, 6§ T T
o 5o el v mq@ﬁ,ﬂm%ﬁaﬁawﬁ,ﬁmdﬂfaﬁmﬁw,
S5 AT A, wd e weeh v den g W e

(2) 13

(3 17 :

@ %mmﬁmﬁrﬂﬁ@mﬁﬁ?ﬁﬁmﬁuﬁmw@.

don’t eat banana, 7 don’t eat
ava, 2 don’t eat panana and
fruits. Select the option that

_Amang all members of a joint family, 8 members

papaya, 6 don’t eat guava, 5 don't eat papaya and gu
guava, 3 don’t eat papaya and banana, 2 don't eat all 3
indicates the total number of these family members.

(1) 21
(2) 13
(3) 17
ts which members

(4) TItis not pnssible to find the pumber as information about frui

_ eats is not given.
e W FrasvAE fge fram a1

36.

fearett FaTEtol AT amfir “I stood” TT 3
Eyaperer HITATEL mﬂﬁmﬁaﬁﬁﬁm'qﬁ?ﬂfﬁﬂmﬁiﬂﬂﬁﬁﬂﬂiﬁﬂ
:{EI‘ET&T - koloa = 1 lie; kolue = he lay; ar1for satoe = he stands

(1) satoa '

(2) kolua

and use following rules for selecting the code for the expression
are no exceptions to the rule and only those rules apply that may be

pr{WidEd expressions.
o kolue = he lay; and satoe = he stands

(3) gatoe

CE FOR ROUGH WORK | _
- - P.T.O.
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37.  geeA Seaw AR oA w e e o6 WfeeR QAT 9 S o
SRA. I 9T e T el o AvEHE AT S TR A e 9
A N e e framr do i gde faw a9 A, AR e
ST A YT AR, Wt qren st Y @9 . B C A ufee S
T SN YO TR T e il gevareh e A Den dgdi Ew 9t (SP) 99
W-mmﬂwﬁmeaﬁmwwmmﬂﬁmW
ﬁmﬂﬁ.mﬁmawwﬁaﬁqémﬁmﬁw%wmwmw-
mmmﬁm!wmmjﬂhmﬁﬁfﬁm«

#A. DG

9. G-D

%. E-G

€. H-G

i GH

It I

(1) S aqE 2) % @fs ad
(3) wHAH, 9% (4) =fw 84

St. Nicolas is trying to arrange his eight reindeers in four rows of two to carry gifts
for children. Though he named them as persons; he also labelled them with letters
He knows his reindeers well and considering their habits he needs to observe th:;
following rules. A must always be on the left-hand side but not in the rear row
B and C must be in either of the first two rows, but not necessarily in the iy
D must always be immediately behind E. F must always be ahead of G but Lot
should be never on the same side and never next to B or C. H. must be as far awa

from A as possible and not on the same side. Select the possible rear pair/pairs ﬁ'nri
the given list from left to right.

a. D-G
b. G-D
E-G
d H-G
e. G-H
Answer Options :
(1) Onlyaande . (2) All except ¢
(3) Onlya,bande (4) All of the above
=0T HITAIS! SN | SPACE FOR ROUGH WORK e T e

- Fi [ L -
LAy yEl,

_ - | 5
Scanned with CamScanner




D N15

s G ~ ANF
@ P

er triangle. On the basis of

. _ :
t system from the following le the left side on the bottom

ify the managemen T
' ﬁzﬁﬁnﬁgement <ystem, which is the fourth letter from

line ?
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39, 3y e fge, :
e e vd s S AR, T Fromen @1 aa. wE Gl A e
4. w1 et Sromen amg.
F. T HIAEN FHS ke,
gt 3w ' .
(1) F[3a39= (2) wFa A
(3) wRaEa® (4) $Ead
Select the valid conclusions,
True statements : All lotuses are koalas, All koalas are boats. Some walls are
boats.
Conclusions : a. Some boats are lotuses,
b. Some walls are koalas,
c¢. All koalas are lotuses.
Answer Options :
(1) Onlyaande (2) Onlya
(3) Onlybande . (4) - Onlyb
40. X, Y oY 23 59 A 1, 2, 3, 4,5, 6 A0 71 A i, K4 Y 4 2 190
i —
(1) 36 (2) 37
(3) 38 @) 31
If variables X, Y and Z can only take values 1, 2, 3, 4, 5, 6 and 7, thep select the
number of solutions of the equation X + Y + Z =12, -
'(1} 36 (2) 37
: (3) 38 r (4) 31
ﬁﬁma ST | SPACE FOR ROUGH WORK =
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41, RIS 3 o 967 A qearen sl B el ?

(1) 115 T FHg (2) 122 g AN

(3) 128 g I (4) 135 TarE T

When was the Deccan Trap formed due to eruptions and flows by Lava ?

(1) 115 million years ago (2) 122 million years ago

(3) 128 million years ago (4) 135 million years ago
42. mﬁaﬁaﬁ_ﬁﬁﬁw-ﬁwmﬁﬁa@.

A, 117, 1974

2. 1094, 1970

%. 139, 1975

= 1594, 1971

watdt al:

(1) %Fa A (2) dd

(3) hEdH (4) W E

day and _ % year is celebrated as Wur}d Population Day and year.
a.  11th July, 1974
b. 108 July, 19:?{} :
13th July, 1975

4. 15th July, 1971~

Answer Options : o P

) Lo (4) . Only d

(8) Onlyb * i P
Wousu WORK L5 é P.T.0.
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43.  wreft¥ Siesn w .
T 38 / sz frear
H, g MY} e i  TAE
A - /
- 11. B'l'ef
g* OIS iii. FganTS
T iv. ET:I'Q
it I ;
AT wm = ;
D4 i v @
(2) iv i by G :
(3) i iv i 111 .'
4) v {0 i |
Match the following :
National Park/Sanctuary District
E 2311]'&]?' Gandhi Park i. = Raigad
. Tansa ii. Thane
c P?lans&d iii. Yavatmal
d. Tipeshwar - iv.  Mumbai
Answer Options :
a b ¢ d J ;;
M i i odv i
@i 4 ooa i /
@) i iv . i il
@ iv i i i - /
2 { '.‘ __________-'-__———___
44. mmmwammﬂmmﬂ? fored wrom »
(1) e, aitmarg 2) vorfl, IemmERE
(3) féireh, dr @ 3, i
In Aurangabad Division, which districts have thﬂ minimum and maximum areg ?
(1) Jalna, Aurangabad (2)/ Parhham Osmanabag )
(3) Hingoli, Beed (4] Latur Nanded
reTeTdl AT / SPACE FOR ROUGH WORK ;" - e L
(2

£
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45. . ‘
i e — # wfe=rm aEEE gee=n e ——
(1) sl : (2) wEwEd
(3) vy gwei=y @)  wh
i‘;lf:;“kan, the evening rain which falls around in the months of April — May is
(1) Mango shower ' (2) Konkan shower
(&) [Crographiczam (4) Sahyadri shower
46, wEuwee R agg i 3 SEGREE S
(1) ieTe, AT, 4e
(2) BT, U, TEHETH
(3) WregL, ST, e
E (4) ﬁfﬁﬁ‘ W! ‘TERT
In Maharashtra, group of districts are rich in manganese and iron-ore.
(1) ' Palghar, Nashik, Dhule
(2) Thane, Pune, Ahmednagar
(3) Solapur, Latur, Nanded
(4) Sindhudurg, Nagpur, Bhandara
47. TERIEE Wrees! e faeeam @wﬁ ?
(1) oredeTR, e, S 9 gt
(2) TR, FeawE, HieEE @ AT
(3) wgEE, TefE, ¥ feggt
(4) @@, weEt, affiTETg & S
Which of the following districts in Maharashtra have iron-ore deposits ?
(1) Ahmednagar, Beed, Jalna and Parbhani
(2) Nagpur, Yevatmal, Kolhapur and Solapur |
(3) Chandrapur, Gadchiroli, Bhandara and Sindhudurg
(4) Satara, Sangli, Aurangabad and Latur
s Sk 12
48, @Il aprore o AT AT T2 I ? . _
Which of the following places has the least temperature range ?
(1) Nagpur @ Beed (3 Soapur (4) Mumbai
' SPAC PR | TPTO!

amn?mquo'! T | SPACE FOR ROUGH WORK
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49, wmgwmaﬁﬁuaﬁqﬁ(mmam Foga T :

B uriv WS g9t s w0,
aﬂaﬂaﬁﬁvﬁﬁmﬁaﬁmaﬁ%m?
Wﬂ'hﬁa?ﬁ: |

(1) e H

(2) waa = anforg

(3) e 37 anfor g

(4) SFa 4

The main objectives of ‘Gram Swachata Abhiyan’ run by the Government of
Maharashtra is : :

a. Reduce casteism in rural society.

b.  Use of toilets in rural area.

e.  Cleaning the human soul.

d. Cleaning the air in rural area.

Which of the above statements is/are correct ?
Answer Options :
(1) Onlya

(2) Onlycandd
(3) Onlyaandd
(4) Onlyb

50.  Hivedr i i 9 B g0 IEUq A S gar ?
(1) 1951 '
(2) 1960
(3) 1961
(4) 1950 |
In which year wﬁs Pune city flooded due to burst of Panshet dam ?
(1) 1951
(2) 1960
(3) 1961
(4) 1950

e SETTA! AT / SPACE FOR ROUGH WORK
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=1, T I T AU :

(1) Wﬁrﬂ i Wm quTe mﬁ"@[ﬂ

(2) w9

(3) ﬁﬂﬂﬁ'{:ﬂ@
4) wEaR ae

%";S‘flmf Rana{:le,. had, in a speech, expressed his dissatisfaction about Mahatma
e’s opposition to the Indian National Congress. In which tract did Mahatma

Phule respond to this speech ?
(1)
(2)
(3)
(4)

Gulamgiri

Ishara

Shetkaryacha Asud
Sarvajanik Satya Dharma

52‘

3 orferr i wofEeE A ?
(1) A S HS

(8) wTEF G

Who was the first General Secretary of the Bombay Association ?
(1) Nana Shankar Seth (2) Dr. Bhau Daji Lad
(3) Balakrishna Munje (4) B.G. Tilak

(2) 2. iF g @B
(4) ae e TE

(D

g e
(1) T AT E
(2) TG TS : e
(3) gl e T =
(4) P EIRILEr
took out a march in

Allahabad to protest against the landlords under

500 farmers
the leadership of

Raja Mohammed Haji

(2) Vallahhhhai Patel

(3)
(4)

Alluri Seetarama Raju

Baba Ram Chandra
FOR ROUGH WORK

P.T.O.
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54.  onfeareht s Fhord fyery g T ?

(8) w0 W, & anfre
(4) wFE

Which statements are false regarding the Revolt of the Tribal People ?

The Bhils revolted in 1818 at Satmal and Ajantha.

Capt. Dusart captured and punished Sheikh Dhulla, the leader of Bhils,
The Revolts of Bhils started under the lea-:iershil; ;f Hira in 1822.

d. Capt. Jell tried fu supress the Revolt of Bhils in 1845, -

Answer Options :

(1) Onlyaandb

(2) Onlyc

(3) Onlyb,candd

(4) Onlyd

55. ﬁmamﬂmwiﬁmmmﬁw%m

a
b.

L

(3) - gur - | (4) Sl

The Hindu Mahasabha organised a Caste Conference of the ‘G

urav’ caste in ;
resolve the issue of inclusion of the converts back into their 0 order to

Castes, L ;
conference held ? Whgre was this

(1) Nashik . (2) Jawala' i g,
(3) Pune (4)  Jejuri .
FPeRT BTGNS} ST / SPAGE FOR ROUGH WORK -/ 11 3 110 i A T

LTI T007%
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(2)

(4)

Arrange according to chronol

(3) ®, ¥ &,
T

a. Peoples’ Education Society founded at Mumbai
b. Satyagraha of Kalaram Temple Entry

C. Establishme
d. Establishment of ‘Bahishkrit Hitkarin

Answer Options :

(1).. b,
(2) a, ¢, d,
(8) d, b, ¢
(4 d, ¢, &,

d, a,

The editurial
pewspapers 1
well-being of
downtrodden,

¢
b
a
b

nt of ‘Scheduled Caste Federation’
i Sabha’

N15

ogical order the works of Dr. Babasaheb Ambedkar.

7 .M established by D
dency seem to
papers that if a single caste is

n the Bombay Presi
certain castes..
its blemish does nn

(1) Bahishkrit Bharat

(3) dJanata

OR ROUGH WORK

e

(4)

_ We warn. guch news

ot spare the other castes.”

(2)
(4)

Mooknayak

Prabuddha Bharat

r. Ambedkar warned that “Many of the
be concerned only with the

i é
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WWW&EMWWW:

TR e diEd g, WG e g

., aifean L g ol s gaer
STAYERTE TR0 Wi Feme 2isfre wrdret’ Tera
HRS 14 T WV i wfreif e w1

I | - {

o g o g

W i i v
@ il v i g
G v i q
CAY (4iP i sl

Match the following pairs regarding the Leftist Movement and Organization in
India :

a. Narayan Meghaji 1. ‘Madras Labour Union’
Lokhande
b. B.P. Wadiya ii. ‘Bombay Mill Hands Association’

¢. Javaprakash Narayan  iii, Established the ‘Radical Democratic Party’
d. Manbendra Nath Roy iy, Important Leader of the Congress Socialist Party
Answer Options ; h

a b e d (
(1) i i iv o did
(2) iii- iy di- i
3 v i i i

(B fi° (Hi. w i dY

1931 Y (g b g P, g gy

(1)  FrFava g . 2) fazr. wawE

(3 = . e 4) TewRE NS

The newspaper called Matrubhumi was published from Akola in 1931 Who was its
editor ? i

(1) Anantrao Gadre - (2) V.D. Savarkar

(3) Dr. B.R. Ambedkar : (4) Dadasaheh Goley
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60. @ﬁamw:
R S WT§ HiaaTe

H,

. e gE ; ii. STITRIERIE

®. ‘T i, fage el

8. e s jv. ST SAETd
AT I .

(1) iv i iii il
(2) 1 fii iv o1
(3) i iv i iii

4) i i iv i

Match the following :

a. Hanged in Kakori Conspiracy 1. Bhai Kotwal :
b. ‘Azad Dasta’ : ii. Ashfaqullah
c. ‘Lal Send ' §ii. Vitthal Jauhari

d. Azad Radio : +v. General Awari .

Answer ﬂptiﬁns .

-a b C d
e - vt 3 ii
@ i i v i
@ i W
(4) i 3 fjv o il

____._———-—__-___--_-_-.__-_ Py
roeat wTETal ST/ SPACE FOR ROUGH WORK ; —
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61. wnaﬁauaaaﬁwﬂawhﬂfrﬁtﬁm@ﬁ
A T s s swaw T,
9. TS ue e,
. TN g mitsden feg o,
8. T fafte s siftga wif A,

Feht o /) e /3w o/ 2

EEIRifE _ .

(1) e 31 amifor = (2) T I =
(3) P A 4) %

Secularism in the context of the Indian Constitution means :
a.  The State is prohibited from making laws on religion.
b.  The State has a religion.

¢.  The State is anti-religious.

d.  There is no specific official religion of the State.

Which of the above statements is/are correct ?

.ﬁnsw_er Options : g

(1) Onlyaandb y (2) Onlybandec

(3) Onlya (4) Onlyd
_62 mﬁaﬁawﬁm@ﬁwﬁmmﬂaﬁ rrzq?ffma?@rr%;
S ITehdTH. s " —

(1) T

(2) Uﬁﬁmmﬁﬂmm _

®) e e wauide o s 1
(4) &mﬁmaa@aﬂmwﬂ%ﬁmmmﬁ

The Supreme Court ef India tenders advise to the Presldent on matters af law or fact

(1) onits own m:tmtwe .
(2)° only if the President seeks such advise
(3) only if the matter is related to fundamental rights
(4) only if the issue poses a threat to unity and integrity of the country
Heeq1 HIFIS! SR / SPACE FOR ROUGH WORK R
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H. WEE el
. T
&®.  FARH

€. HeEWE 9 Ta|
e ww /df waf wle smd/a 2
Tt I ;

ol (2) waa d
(3) Waa W Imfra (4) W H

Which State does the special provision in Article 371 of the Indian Constitution
relate to ?

a. Maharashtra and Goa

b. Manipur '

¢. Karnataka

d. Maharashtra and Gujarat

Which of the above options is/are correct ?
Answer Options : )

(1) Onlyd

(3) Onlyaandb

64
. 4) 1881
(1) 1891 (2) 1861 (3) 1871 4) .
- i i k in the Constitutiona
The Indian Council Act of is an important landmar .1:1 s
?Etﬂ?ﬁ;ilndm (2) 1861 (3 1871 (4) 1881
1) '
CaTeAT e e = j
88 e | (2) TEHE _
i) ot ST (4) TGS WaT= S oiPEIE]
” : ase the pumber of judges in the Supreme Courl of India is vested
The power 10 incre
in the — (2) President
(1) Parliament | (4) Chief Justice of India
igs10n
3) Law Com™® _
WM _ PTO.
:
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66. wgwﬁmﬁwmﬁmnﬁﬁmwsnnﬁ@aﬁvﬁaﬁmmﬁmﬁ
ﬁﬁﬁ._ﬁ’ﬁaﬂamﬁﬁmmmﬁ lgﬂanﬂmuauaﬁ?ﬁm}m

Faetelt vaaufie sfig S,
(1) z@=m (2) wEEm
(3) = ; ] (4) =gy

The Government'der:ided to hn]& a Round Table Conference in London in November
1930 to consider Cunstitutiﬁnal reforms, after Round Table Conferences,

the British Government published a White Paper in March 1933 containing an
outline of a new Constitution. '

(1) second (2) sixth

(3) third (4) fourth

67. mmmwmmﬁwmmmo
(1) Yoya sy
(2) TovE
(3) Qﬁiﬁmﬂaﬁ-
(@) Wk

Which of the fﬂllcrwmg provisions is borrowed
American Constitution ?

by the Indian Constitution from the
(1) Fundamental Duties

(2) Fundamental Rights

(3) Single Citizenship

(4) Parliamentq.r Government

 FeTqT FATS ST / SPACE FOR ROUGH WORK L3 AN BOARE i T B e roe
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=it

. THIH TR
9. TN BEE

%. i TG T

g. ‘G‘iﬁ?ﬁﬂilaﬁﬂaﬁmgﬁ

it I ;

W A & T
@ @i iy i
@ # i i iV
@ v i i i
(4) iv i i 1

37 N15

i, e e e ey

. sreqewgTn fefire e weearEl 9
iii, | ofeEd qfiy suehiTa AT G
iv. ot e e gar w@e

Match the pairs (About Fundamental Rights) :

Consists of

Category
Right to Equality i, Prohibition of child employment in factories
b. Right to Freedom ii. Right to minorities to establish and administer
: M educational institutions
¢. Right against iii. Protection of life and personal liberty
Exploitation
d. Cultural and iv. Equality of opportunity in matter of public
Educational Rights employment
Answer Options :
a b c d
(1) iii iv i i
(2) i jiim 1 iv
@y i o
(4) iv 1 iii 1
_u——_'_-_-_-_ __-_______-——_-
' P.T.O.
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69. Wnﬂm&ﬁmmﬁmﬁmﬁwﬁwmmm
TR Erefed Fmg fim 49 2
(1) HiE-f2 gyron, 1909
(2) Wiey-S=awd e, 1919
(38) TeEe 3% e ofwe, 1935
(4) T @ W, 1947

The distribution of powers between the Centre and the States in the Indian
Constitution is based on the scheme provided in the -

(1)  Morley-Minto Reforms, 1909

(2) Montagu-Chelmsford Act, 1919
(3) Government of India Act, 1935
(4)  Indian Independence Act, 1947

70. meﬁmﬂaﬁrwhmﬁﬁﬁaﬁq@_ﬁmmW:
3. Wmmmaﬁwmﬁﬁawﬁmﬁﬂmm.
9. U U ferdieien semet figd) s,
®. T et At 3o weenief Fraw s,

S. TSI U= weifiadr e s,
FH Forft frery s s 2
w: T

(1) % a1 anfor g

(2) wad % anfir g

(8) W =, F anfvr =

4) et

Consider the following statements regarding the Executive Powers

of the Governor -
The Governor appoints the High Court Judges,

The Governor appoints the Vice Chancellor of the Universities of the State.
The Governor appoints the Chief Minister and other State Ministers,
The Governor appoints the Advocate General of the State.:
Which of the above statements are correct ?
- Answer Options :
(1) Onlyaandb :
(2). Onlycandd ot
(3) Onlyb,candd |
(4) All of the above

ToeT HIFATS! ST / SPACE FOR ROUGH WORK
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71. wwm@ﬁ@@m?
ERei |

.
T, e e e
F,  THAEE TEE FHH

. 8. HueE e faam

aEt I

(1) & H (2) wad 3 snfir =
(8) aTdh AT (4) = T
Which of the following are the basic characteristics of the Indian Economy ?
a. Low Per Capita Income

b. Heavy Population Pressure

¢. Prevalence of Low Level of Technology

d. Maldistrihutiun of Wealth

Answer Options :

(1) Onlya (2) Onlyaandb
(3) None of the above (4) All of the above

72. mﬁ:ﬁmwﬁa _sﬂﬁﬂﬂmq@rrﬂ‘mmm o= Bied ?
- sfr AR (2) T3 FarTadt

(3) HFER ™ 9 (4) TE FrEiem smn

Who formulated the ‘Peuples Plan’ which laid down the path for the planning
process in India ?

(1) Shriman Narayan (2) Eight Industrialists
(3) Manhenﬂra Nath Roy (4) National Planning Commission
73. wﬁwﬁ*ﬂmﬁwwﬁwﬁﬁ__ﬁﬁm&uﬁnnmmﬁm

(1) d.eF. Fehre s 6., wEe (2) e 2e i . wrad
(3) dt.ua. Ffie afor 9. trmaja‘m (4) .M. sEEE o o wEd

emphasised on the wage goods model at the time of formation of Second
Five Year Plan.
(1) C.N. Vakil and P.R. Brahmananda (2) 1G. Patel and J. Bhagwati

s
Foea] HTEIATS! ST / SPACE FOR ROUGH WORK P.T.0.
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4.

40

Fa= Fea o ifere W .
A, TEEET fem :

4. e aEn e

%, YR gl G

T W = 9 grdEE 98

uatdt I ;

(1) e 37 (2) ®FaF
(3) w37 anfr 9 (4) TFE

The focus of the Ninth Plan was on

a. Development of Service Sector

b. Development of Industrial Sector

¢.  Development of Infrastructure

d.  Growth with Social Justice and Equality
Answer Options: .

(1) Onlya (2) Onlyb
(3) Onlyaandb (4) Onlyd

75.

i e o Fiws i s 2
A, foegm

a9, g

C- |

3. TYE U SeEEt 9

atdt 39

(1) 5% (2) o @, 9 anfor =
(3) %Fd #, T T T (4) =rdhr o4

Which are the social indicators of economic development ?
Education

Health

Food

Growth of Gross National Income

Be g

Answer Options : _ -_
(1) Onlyd _ (2) Onlya, bande
(3) Onlya,bandd (4) All of the above

Fee] HTIETA! ST | SPACE FOR ROUGH WORK
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76. TT 2019 - 20 9% ey ﬂﬂaﬁ?ﬁﬁuﬁ

(1) s<him da
(3) HiFedaw /e

N15

(2) mﬁmﬁmﬂ?ﬂ
4) fmEm

registered the highest export from service sector in 2019 — 20.

(1) Banking services
(3) Software services

(2) Non-Software services
(4) Insurance services

1. mﬁaﬁ#aﬁwﬁﬁmaﬂaﬂﬁ%ﬁmmaﬁﬁ

(1) <o @
(2) wE foem e, 2010
(3) Frem smm

(4) v fgreg o=

Which of the following has introduced Multidimensional Poverty Index ?

(1) World Bank

(2) Human Development Report, 2010

(3) Planning Commission
(4) Reserve Bank of India

. 78, wmmmmv
., gl A B

9. B

%. Sefirs a9

T,  TIAHS dehil

qatdt 39

(1) A

(3) wHd

(2) had 3, § I &
(4) T T

Which type of unemployment is found in India ?.

Disguised unemployment
Seasonal unemployment
Educational unemployment
Structural unemployment

B p

Answer Options :
(1) Onlya
(3) Onlyc

(2) Onlya,bande .

(4) Al of the abgye

v ST T | SPACE FOR ROUGH WORK
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79.  #. Trww, dHm anfy $o, mmﬁmmmma
F}mﬁﬂmﬁ
(1) =t foarg anfor 9t 0 weeam
(2) e gftorm 2nfr s gftom
(3) Tegomrsn uftomm anfor e Eh-qew wwmor
(4) e itoms i wed g4

According to C. Rangarajan, Seema and E.M. Vibeesh, the rural females labour force
participation rate has declined due to

(1) Child marriages and growth rate decline
(2) Education effect and Income effect

(3) Education effect and declining sex ratio
(4) Income effect and growth rate decline

80. WMW&WWT
3. Troae g 3=

4. e veaiets o= sam
F. AR wd

S,  THEYd gy swEEEar
it I ;

(1) e H ;
(2) waa 31 anfr 5 <
(3) ®H T

(4) Tt =

Which of the following factors indicate regional imbalance ?
a.  Net State Domestic Product

b.  Per-Capita Net State Domestic Product

c

d

Trends in Investment . %=
Infrastructure Disparities _ )
Answer Options : ; 3
(1) Onlya ' . ;
(2) Onlyaandb : ¥
(3) Onlyb
(4) All of the above
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81. | el Rediemn s e s s P o dm SR/ ?

3. AT g e e weerE v g,

9. uRmE gl o gal 3 9 W AR ge Sl Hed.

At I

1) R a (2) WA w

® o st w 3 (4) e FoErd

Which of the following policy research conclusions by World Bank is/are correct ?

a.  Growth is positively affected by stock of infrastructure assets.

b, Income inequality declines with higher infrastructure quantity and quality.

Answer Options : "

(1) Onlya (2) Onlyb

(3) Bothaandb (4) None of the above
82, @rele faud fa=mma =

3. 31ma‘ Eﬁlﬂﬁmr@wmﬁmmﬁmﬁaﬁ@m@m

7. 2019- zﬂnﬁrﬁrﬁquﬁmmﬁ%m 965 ffl T&a 2020 — 21 AEA 40-5 Fdl 3o

agi e S .

afteiht o /A G/ a9 /a2

gt 3w ; :

(1) e & Arg e

@) F @ A IR

(3) = ¥ f & 5% IR

(4) 2 3 anfr = A R

Consider the following statements :

a. India’s road transport is the second largest in the world as on 31°* March, 2019,

b. The extent of road construction per day increased gubstantially in 2020 — 21 to

405 km per day from 365 km per day in 2019 — 20.

Which of the above statements is/are correct ?

Answer Options : '

(1) Only a is correct

(2) Only b is correct

(3) Both a and b are incorrect

(4) Both aand b are correct
oo FTATATE ST / SPACE FOR ROUGH WORK —-—"—;;'ff[
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83.  welierih H T LED HrwAT T IR ?
. TEEE HTEE g0 399 9 LED (391)
9. i v fgdieer s (SLNP)
gt 39 ;
(1) waa &
(2) ®wF 4
(3) a1 anfor 7 gl
(4) 3 anfor 5 S AT

Which of the following are the components of the Nati[mlal LED Programme ?
a.  Unnat Jyoti by Affordable LEDs for All (UJALA)

b. Street Lighting National Programme (SLNP)

Answer Optic-;;:” 3

(1) Onlya

(2) Onlyb

(3) Bothaandb

(4) Neither a nor b

84,  YNaTHlA Wiefeihl FvE Ty 100 2% FEarhe T Shevit (FeE) HYE TS BW
T T TR SR S e R 7 -

(1) wewm
(2) =

(3) Te0a
(4) =

Which of the following is the first State in India to have 100 percent househnlds vnth
tap water connection, that is ‘Har Ghar Jal Rajya’ ?

(1) Maharashtra
(2) Kerala _ ¥1
(3) Gujarat ;
(4) Goa kL)
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mﬁﬁaﬁmﬁﬁwmm
#2016 7 Iz g Feh e,

3. I W e f e TR .

F. 2016 Wed ISW HEW A o, mmm?atfﬁmﬁéﬁ!i’rﬁﬁmﬁmﬂﬂ@?ﬁ
et won /@ ﬁm;ﬁaﬁm TR /3Tt ?

qatdt I

(1) wea 37 anfi 5 ==y aEa
(2) waa = anfr = =tag Rd
(8) waa oF M & Fl= AR
(4) A q W 3

Consider the following statements :
a. UDAN was launched in 2016.

b. UDAN is an International Airport Development Program of the Government of
India.

¢.  Till launching of UDAN in 2016, Iudia-hgd 74 airports having scheduled
operations.

‘Which of the above statements is/are correct ?
Answer Options :

(1) Only a and b are correct

(2) Onlyb and c are correct

(3) . Only a and c are correct

(4) Only b is correct

mﬂmwgawﬁnﬁmmwmwmw
mmmﬂuzun@mmé

(1) e anfn dege 52
(2) == anfon SgER i FeEm 92
(3) == anfor wErg 2
(4) R Il sigam snfin freEm &2

The undersea 2313 km optic fiber-based telecom connectivity betwean
inaugurated in August 2020.

(1) Kochi and Lakshadweep Islands

(2) Chennai and Andaman and Nicobar Islands
(3) Chennai and Lakshadweep Islands

(4) Kochi and Andaman and Nicobar Islands

was
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87.  glearf Hda R TR IR W 20 e
(1) 1991 (2) 1954 (3) 2001 S (4 2006
Foreign Investment was-allowed in Telephone services from
(1) 1991 (2) 1994 (3) 2001 (4) 2005
88. wﬁwwmiﬁmm TS 11 o 1L i L1 S
FHTH Tl
(1) e, <ten : (2) i, fmw
(3) i, e @) fomm, fewo _
In terms of route length, Indian Railway is largest in the world and in
terms of freight traffic, it is largest in the world.
(1) third, fourth - (2) fourth, third
(3) fourth, fourth : (4) third, third

89.

wErgreT feRs 2030” AREHTAT, wﬁﬁamﬁmwgﬁuﬁmﬂﬂaﬁﬁ @
o AR 7 e
A, =i — dhEE i — 1 1413

q. = T iR — 894

%. urdargR aft Waet suaeat el aritr Sreaet hal - 84-9 '
T i i wiel W R gen — 31

it I .

(1) =1, 9, & &7 8 (2) e 3t anfor =

(3) %ﬁﬁsm 9 o % T (4) %as |, a;:miﬁrg

Which of the fnllumng points about social mfrastructure in Maharashtra is correct,
as per “Vision 2030’ document of Maharashtra ?

a. Doctor — Population Ratio —1: 1418
b.  Child Sex Ratio — 894
¢.  Percentage of rural population covered under piped WRt‘ErgEupp]y.— 849

d. Average school students per classroom — 31 ¥

Answer Options : -
(1) a,b,candd % (2) Onlyaande .,
(3) Onlya,bande ; (4) Onlyb,candd)
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90. 2021 Ul YRATE FZw urgolt Svearerren g, wreledtel @ Rad s andq 9
3. 25 Y FARETEE 220 W G W wevien P ook g s '-3@1_ |
W WTT R TRV e 239% HEtiA gevle g wesy s,
®. 25 Ve i Qi Wl 2021 wh v dg o de,

it 3w
(1) o, 9 anfrs (2) s oy anf w
(3) Huw 3 Y W (4) e @ ol w
Which of the following statements are correct, according to the household survey
data of UNICEF of 2021 ?
a. 220 crore children and youth below the age of 25 do not have fixed internet
access. | '
"b.  Only 28% of children residing in rural aveas have internet accoss, :
e.  More than 25 countries had kept their schools closed till February 2021,
Answer Options : :
(1) a,bande (2) Onlyaandb
(3) Onlyaandc (4)' Only b and ¢

91. Wi faum e = '
ar, 1, mniwwmiﬁa_:mm STTE B,
q. o oni e Saui wau W ad T/ i Wit s T A S,

afreren o/ R/ A s/ 2

l'nl'ﬂi'd’f:ﬁﬁ: p—— _

(1) Fas 3 A I - | @) as g

(3) 21t 31 anfer & AR A (4) Bt ar anfr w awi suR

Consider the following statements : _
VAT was introduced in India from 15% April, 2005,

a.

b. VAT was introduced by all States/Union Territories exeept the Unjon
o " rerritories of Jammu and Kashmir,
;g- Which of the above statements ig/are correct ?
g Answer Options :
S (1) Only a is correct (2) Onlybis correct
B (3) Botha and b are correct (4) Botha and b are inorpect

a e —l, T e x —

I P.T.0.
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92.

48 ) D
wrnfERT Saeieal ATeEhifah IIE @refiad S gt a8 ?
(1) mmmmmmw sy
(2) Wgw W
(3) FEM HIEEAT
(4) W2 uzgaH 20

Which of the following is nof a part of ownership measures taken under
privatisation ?

(1) Transfer of ownership of a public enterpnse to private hand

(2) Joint Venture
(3) Liquidation
(4) _Leasing

93.

I SR HHe Wieleieh] SV 9o TEg Rd ?
3. A s | %
T, HY I e

. & afr sftefies femmgm

3. 9" i A Semed

oot T= ;

(1) e 3 arfor 5

(2) waa & anfo g

(3) wad ¥, ¥ i =

(4) afeddhiad

Which of the following aspects are mcluded in the World Trade Orgamsatmn ? )
a. Banking and Insurance b

b.  Agricultural Products ; _
c. Patents and Industrial Designs : (3G

d. Drugs and Chemical Products : 0l ;
Answer Options: ; 4 LT
(1) Onlyaandb Ty Dk

(2) Onlycandd ' ' .

(3) Onlyabandc. !

(4) All of the above : gt

4|
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04, @G HIVR SAFfIHume Trode ma? P
(1) 9% 9 Ha= O 6
(2) WisgeAT=T Tk YaTE
(3) =T g weE
(4) =i TOEL - N
Which of the following is nof a parameter of glubali'safinn ?
(1) Free flow of goods and services
(2) Free flow of capital
(3) Free movement of labour
(4)  Socio-economic equality at glnhal Ie'vel

oY

95. | ‘ST FEU Higde, 9|, TN, wmﬁrmgmw wﬁamﬁaﬁm

wﬁmmmmm%mﬁmﬁm . i
T Sad =

Hiffraed! 212,
(1) E9eh AR . (2) wiw Pt
(3) was fefere : (4) T wTEd) |
“Globalisation means free movement of capital, goods, technology, ideas and people.
Any globalisation that omits the last one is parlnal aml not sustainable.” This
definition of globalisation is stated by _ re
(1) Deepak Nayyar . _ (2) Bra.nk? Milanovié
(3) Joseph Stiglitz (4) Jagdish Bhagwati- |

96, W SATIR Ul wﬁm ¥
(1) 19mad, 1991
(2) 5 %gandt, 1994
(8) 19t 1995
(4) 26 SHaT, 1996 e lua
When did World Trade Organisation Agreemnt come mtn ﬂﬁ‘ect 241
(1) 1% January,1991 (| (., _ 3 f e a
(2) 5% February, 1994
(3) 1% January, 1995
(4) 26t January, 1996,
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97.  Wwardte snfifs guworen sewia @refia faum fEmm e : :
A gweniiE fEfwTR SeEEdEte R, o e SEERde 3 wEEeE aiE

T Bl |
q.  EEATTE GUESEHS SR S wieae AR guwen, e famm amn weEy
Bl .
ﬂﬂaﬂﬁaﬁmﬁj?ﬁﬁmﬁ@%ﬁ?
gt I : _
(1) e & 97 R (2) wad 9 49 AR
(8) et o1 3nfor 7 9 IR (4) ﬁamﬁwmaﬂﬁa

Consider the following statements in the context of economic reforms in India :

a.  Macroeconomic stabilisation consists of control of inflation, fiscal and balance
of Payments adjustment.

b.  Structural adjustments consist of trade and capital flows reforms, industrial

regulations,
Which of the above statements is/are correct ?
Answer Options : )
(1) Only ais correct " (2) Onlybis correct
(3) Both a and b are correct (4) Both a and b are incorrect

98. S SR HeeeA weNid wrefter Fr s e - i
A, mmmmmmmmmga@
9. Wil uftes R wete fiof S wes s,
w.  feda 2005 7ed werdht st whwg a3 wreh B
TRt o/ B/ e s/ 2
it I ‘

(1) T gq (2) PRI T® (3) ®Fa T (4) Foa =

Consider the following statements regarding the WTO :

a.  The purpose of WTO is to remove restrictions on international trade,
b.  The highest decisiﬂn—xﬁaking body is the Ministerial Conference,

c.  The Sixth Ministerial Conference was held in Doha in December 2005,
Which of the above statements is/are incurrecf ?

Answer Options :

(1) Onlyaandb (2) Onlybande (3) Onlyb " (4) ‘Onlyc
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99.  WIFTEHUI=A Y Tewta refier fum Rramae o

A TR PR
i {ﬁ"ﬁ“""“m TRV e

. WWWWWWW SN LT
aﬂaﬂ?ﬁﬁmﬁﬁﬁﬁm;@m” = -—,_z//” : S
- it It

1) ¥ A I I

(2) U W I%

(3) A % =nfr % g A
(4) T 31 onfir ¥ =i ARd

Consider the fu]iowing statements in the context of Methods of Privatisation :

a. Total denationalization implies a complete transfer of ownership of a public
enterprise to private hands.

b. Management buy-out implies a complete transfer of uwnersl‘up of a public
* 1" enterprise to multinational corporations.

Which of the above state:nenta is/are incorrect ?
Answer Options : :
(1). Only a is incorrect.
~(2) _ Only b is incorrect
(3) Both a and b are incorrect
(4) Both a and b are correct.

100. mﬂﬁmﬂﬁmwwmmmﬁ%?
(1) el 9o o]
(2) spfarTaeR G
(3) =i snfE dR

(4) Tifzsw AT

Structural reform measures suggested by the World Bank to [nd:a were of whmh
policy 7 .. st

(1) .~ Education Folicy
& (2) Labour Policy .
RF (3) New Economic Policy

~J (4) -, Monetary Policy
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AT — (qm1asaq2.....)

(8) “ wegfEHel fafte e Rfire snfie w2 wm (5 7%) A, TRIEEREE ITEEHTA
HITETR Tt FTH HA A H AT T FA R, @ AFG I T AFH JAGARTR Iy
Wi e “wheimel A Ao They woamETE ffEE-82’ | aE wEEgET e
mﬁﬁﬂmmwﬁﬂwm sfen /fian 70 T BT T gere fidm
LIER i) ' :

(9) et werfrRaTd i Rifin Faeh Jo duerEa FigEen @ Ve wEa R T
U VA wER AR, W COETEATETR WA A Sedt IRt H-1
THAgETEE A et W s v ey, : g

STHelT U

. %. 201, T e T wwarEE e e e 9 2 -
(1) v Zamg woad (2) aeeg fEemmR
(8) T T (4) T e
| S 9 I (3) T e U s ek, WS @ vee 3w (@) dde.
WA T 3. 201 T S @) 2 ade T omited wea gratm sras
AT,

F20. @ @ @ O .
FM i eqn WHYRERAE TIF AT qHE S 1 g e g
IR W SRR e g Age i suifee e aneamE. grehar.
TR Tl TSR AT A, e e e A L - :
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